九十七學年度第一學期 線性代數 小考一 (Ch1) (乙班) (請勿使用計算機或計算紙)
班級：                   學號：                    姓名：                   

1. (10%) 翻譯：A subset of Rn is a subspace if it is closed under addition and under scalar multiplication.

2. (10%) Determine the resulting matrix and the elementary row operations should be used. 
(填寫所需的 列運算 及 矩陣缺的值即可，不必繼續做下一步)
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3. (20%) Solve, if possible, the following system using the method of Gauss-Jordan elimination. (不用此做法不給分，矩陣必須變成reduced echelon form)
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4. (15%) Show that the set W={ (a, 3a) | a(R} is a subspace of R2.
5. (15%) Let W={ (a, 2a+b, b)| a,b(R}. It is known that W is a subspace of R3. Find a basis for W and give its dimension.

6. Let u = (2, 1, ), v= (2, 1, 3) be vectors of R3.
(a) (10%) Find the norm of u. 

(b) (10%) Determine the cosine of the angle between u and v.  

(c) (10%) Determine a vector x that is orthogonal to both u and v.

九十七學年度第一學期 線性代數 小考一 (Ch1) (甲班) (請勿使用計算機或計算紙)
班級：                   學號：                    姓名：                   

1. (10%) 翻譯：A subset of Rn is a subspace if it is closed under addition and under scalar multiplication.

2. (10%) Determine the resulting matrix and the elementary row operations should be used. 
(填寫所需的 列運算 及 矩陣缺的值即可，不必繼續做下一步)
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3. (20%) Solve, if possible, the following system using the method of Gauss-Jordan elimination. (不用此做法不給分)
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4. (15%) Show that the set W={ (2a, a) | a(R} is a subspace of R2.

5. (15%) Let W={ (a, a+3b, b)| a,b(R}. It is known that W is a subspace of R3. Find a basis for W and give its dimension.

6. Let u = (2, 0, ), v= (2, 1, 1) be vectors of R3.
(a) (10%) Find the norm of u. 


(b) (10%) Determine the cosine of the angle between u and v.  


(c) (10%) Determine a vector x that is orthogonal to both u and v.
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